BiliE# 735

X—=MIVIERU

@JIS B 0207(1999) & bk

x—b»ﬁanuwgﬁm%

T

- %
T I

1

3 a
o| ] 60 o
1 s 8% H=0866025P  D=d
7 I // 5 o Hi=0.541266P  Do=d»
e P | 2 de=d—0.649519p Di=dk
Lvo- bUOWE 3 di=d—1.082532p
X — MIViiE L COEESFE B mm BT mm
»1l »ht
EvF | Vomh) = By F |Vahh) s -
p— OB u@&D\’Eﬁiﬁ;{}Dz\ RED: . omy ety nmﬁo\ﬁiﬁ}pﬂ R&D
P M HiEd [mnEd a0, P | M Ed [euEk[aoRd
M1 x02| 02 | 0108 | 1000 0.870] 0783 M26 x1.5| 1.5 | 0812 | 26.000] 25.026] 24.376
M1.1x02 | 02 | 0108 | 1.100] 0970 | 0883 M27 x2 | 2 1.083 | 27.000| 25.701| 24.835
M12x02 | 02 | 0108 | 1.200 1.070| 0983 M27 x1.5 | 1.5 | 0812 | 27.000| 26.026| 25.376
M1.4x02 | 02 | 0108 | 1.400 1270 | 1.183  M27 x1 1 0.541 | 27.000, 26.350| 25917
M16x02 | 02 | 0108 | 1600 1470 1383 M28x2 | 2 1.083 | 28.000| 26.701| 25.835
M1.8x02 | 02 | 0108 | 1.800, 1.670| 1.583 M28 x1.5| 1.5 | 0812 | 28.000| 27.026| 26.376
M2 x025 025 | 0.135 | 2000 1.838| 1.729  M28 X1 1 0.541 | 28000 27.350| 26.917
M22x025] 025 | 0135 | 2200 2038 1929 M30 x3 | 3 1.624 | 30.000| 28.051| 26.752
M25x035] 035 | 0189 | 2500 2273 2121  M30x2 | 2 1.083 | 30.000| 28.701| 27.835
M3 x035 035 | 0189 | 3000 2773| 2621  M30 x15 | 15 | 0812 | 30.000| 29.026| 28.376
M35x0.35 035 | 0189 | 3500 3273 3.121  M30 X1 1 0.541 | 30.000, 29.350| 28.917
M4 x05| 05 | 0271 | 4000 3675 3459 M32x2 | 2 1.083 | 32.000| 30.701| 29.835
M45x05 | 05 | 0271 | 4500 4.175| 3959 M32 x1.5| 1.5 | 0812 | 32.000| 31.026| 30.376
M5 x05| 05 | 0271 | 5000 4675 4459 M33x3 | 3 1624 | 33.000| 31.051| 29.752
M55%x05 | 05 | 0271 | 5500 5.175 4959 M33x2 | 2 1.083 | 33.000| 31.701| 30.835
M6 x0.75 0.75 | 0406 | 6000 5513 5188 M33x1.5| 1.5 | 0812 | 33.000 32.026| 31.376
M7 x0.75 075 | 0406 | 7.000 6513 6188 M35x1.5| 1.5 | 0812 | 35000] 34.026] 33.376
M8 x1 | 1 0541 | 8000 7.350| 6917 M36 x3 | 3 1.624 | 36.000| 34.051| 32.752
M8 x075 075 | 0406 | 8000 7513 7188 M36x2 | 2 1.083 | 36.000| 34.701| 33.835
MO x1 | 1 0541 | 9.000| 8350 7917 M36x15 | 15 | 0812 | 36.000 35.026| 34.376
M9 x0.75 075 | 0406 | 9000 8513 8188 M38x1.5| 1.5 | 0812 | 38.000] 37.026] 36.376
M10 x1.25 1.25 | 0677 | 10000 9.188] 8647 M39 x3 | 3 1624 | 39.000| 37.051| 35.752
MIO x1 | 1 0541 | 10000| 9.350| 8917 M39 x2 | 2 1.083 | 39.000| 37.701| 36.835
M10 x0.75 0.75 | 0406 | 10000 9513 9188 M39 x1.5 | 1.5 | 0812 | 39.000| 38.026| 37.376
MIT x1 | 1 0541 | 11.000] 10.350] 9917 M40 x3 | 3 1.624 | 40.000| 38.051| 36.752
M11 x0.75 0.75 | 0.406 | 11.000, 10513 10.188 M40 x2 | 2 1.083 | 40.000| 38.701| 37.835
M2 x15 | 15 | 0812 | 12.000] 11.026] 10376 M40 x1.5 | 1.5 | 0812 | 40.000| 39.026| 38.376
Mi2 x1.25 125 | 0677 | 12000 11.188| 10647 M42 x4 | 4 2.165 | 42.000| 39.402| 37.670
M2 x1 | 1 0541 | 12.000| 11.350 10917 M42 x3 | 3 1624 | 42.000| 40.051| 38.752
M4 x15| 15 | 0812 | 14000 13026 12376 M42x2 | 2 1.083 | 42.000| 40.701| 39.835
M14 x125 125 | 0677 | 14000 13.188) 12647 M42 x1.5 | 1.5 | 0812 | 42.000| 41.026| 39.376
M4 x1 | 1 0541 | 14.000| 13.350| 12917 M45 x4 | 4 2.165 | 45.000| 42.402] 40.670
M15 x15| 15 | 0812 | 15000 14.026] 13376 M45x3 | 3 1624 | 45.000| 43.051| 41.752
M5 x1 | 1 0812 | 15000| 14.350| 13917 M45x2 | 2 1.083 | 45.000| 43.701| 42.835
M16 x15| 15 | 0812 | 16.000] 15.026] 14.376 M45x1.5 | 1.5 | 0812 | 45.000| 44.026| 43.376
M6 x1 | 1 0541 | 16.000| 15.350| 14.917 M48 x4 | 4 2.165 | 48.000| 45.402| 43.670
M7 x15| 15 | 0812 | 17.000 16.026] 15376 M48 x3 | 3 1624 | 48.000| 46.051| 44.752
M17 x1 | 1 0541 | 17.000| 16.350| 15917 M48 x2 | 2 1.083 | 48.000| 46.701| 45.835
M8 x2 | 2 1.083 | 18000 16.701] 15835 M48 x1.5 | 1.5 | 0.812 | 48.000 47.026| 46.376
Mi8 x15| 15 | 0812 | 18000 17.026 16376 M50 x3 | 3 1.624 | 50.000| 48.051| 46.752
M8 x1 | 1 0541 | 18.000| 17.350| 16917 M50 x2 | 2 1.083 | 50.000| 48.701| 47.835
M20 x2 | 2 1.083 | 20000 18.701] 17.835 M50 x15 | 1.5 | 0.812 | 50.000 49.026| 48.376
M20 x15| 1.5 | 0812 | 20000 19.026| 18376 M52 x4 | 4 2.165 | 52.000| 49.402| 47.670
M20 x1 | 1 0541 | 20000 19.350| 18917 M52 x3 | 3 1624 | 52.000| 50.051| 48.752
M2 x2 | 2 1083 | 22000 20.701| 19.835 M52 x2 | 2 1.083 | 52.000| 50.701| 49.835
M22 x15| 15 | 0812 | 22000 21.026) 20376 M52 x1.5 | 1.5 | 0812 | 52.000| 51.026| 50.376
M2 x1 | 1 0541 | 22.000| 21.350| 20917 M55 x4 | 4 2.165 | 55.000| 52.402] 50.670
M24 x2 | 2 1.083 | 24000 22.701] 21.835 M55 x3 | 3 1624 | 55.000| 53.051| 51.752
M24 x15| 15 | 0812 | 24000 23026 22376 M55 x2 | 2 1.083 | 55.000| 53.701| 52.835
M24 x1 | 1 0541 | 24.000| 23.350| 22917 M55 x1.5 | 15 | 0812 | 55000 54.026] 53.376
M25 x2 | 2 1.083 | 25.000| 23.701| 22.835 P
M25 x15| 15 | 0812 | 25000 24.026 23.376
M25 x1_ | 1 0541 | 25000 24.350| 23917 O

iwata







